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50, will be treated as mal

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 17MAT31
Third Semester B.E. Degree Examination, June/July 2019
Engineering Mathematics - 11l

®
Time: 3 hrs. p
Note: Answer any FIVE full questions, on from each module.
1 a. Obtain the fourier series of th 3 X<m and
2 M
hence deduce — = liz— (08 Marks)
b. Obtain the Half Range(F %) = sin x in [0, t]. (06 Marks)
¢. Obtain the constant.term and the coefficients of &ﬁrst sine and cosine terms in the fourier
expansion of y give
-
b 20
, % e’ (06 Marks)
2 a. Obtain the fourier series of rence deduce that
m B
—=l-=t—=—=+... o (08 Marks)
4 . ) ¢
b. Find the fourier half range cosine series o%t =x"in [0, 3]. (06 Marks)
c. Express y as a foufier series upto first ha 1ic given 4
X : : | 60 20, 180 240 | 270 | 300 | 330
y:|1 i 216 129| 13 [ 152|176 ] 2.0
& / (06 Marks)

3 a j}i‘indﬁ the fourier

oM 4 =
b. Find the fourier-sine transform oé@%}% X and hence evaluate I xlsm azx
+X

@ 0
c. Obtain the z-transform of %:?s nO and sinno.
“ OR
4 a. Find the fourier transform of f(x) = xe*/.
b. Find the fourier cosine transform of f(x) where

1 of3

dx ;

b

a>0

and hence deduce

(08 Marks)

(06 Marks)

(06 Marks)

(08 Marks)

(06 Marks)



o\gpqm'!ﬂn‘?‘ v '

17MAT31

c. Solve upiz + 6uget + 9u, = 2" with up = u; = 0 using z-t (06 Marks)

Module-3 :

5 a. Fita straight line y = ax + b for the following d the method of least squares.
x:|1[{3[4]64879]11]14 N
y:[1]2]40%44{5][7]|8 |9

(08 Marks)
b. Calculate the coefficient of correlatio g
x:[92 70 | 63 3150
y: |86 54 | 82187 | 57
(06 Marks)
c. Compute the real root of xi — 1.2 = 0 by the methgd of false position. Carry out 3
iterations in (2, 3). -3 (06 Marks)
OR

6 a. Fitasecond degre%@%%ﬁola to the following datay = a + bx + cx’.

(08 Marks)
b.

(06 Marks)
c. %= cos x + | near

(06 Marks)
7 a obtained marks between
70 — 80
31
‘ P (08 Marks)
b. ind f(9) for the'data:
5 i 11, 13 17
150 | 392 41452 | 2366 | 5202
(06 Marks)

%,%alue of jJEs_ ge

«9‘9\

by Simpson’s %rd rule by dividing |:0, g:l into

(06 Marks)
OR
8 a is given for the following values:

85 90 95 | 100

! 5674 | 6362 | 7088 | 7854
Calculate the area qf cifcle of dlameter 105 by Newton’s backward formula. (08 Marks)
b. Using Lagrange’ & terpolation formula to find the polynomial which passes through the
points (0, —12) ), (3, 6), (4, 12). (06 Marks)

52

. Evaluate |log, x dx taking 6 equal parts by applying Weddle’s rule. (06 Marks)
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Module-5
If F=3xyi-y?], evaluate Jﬁd; where ‘C’ is ar¢ of parabola y = 2x* from (0, 0) to (1, 2)
€

(08 Marks)
Evaluate by Stokes theorem y
§(sinzdx—cosxdy+sinydz), where C 8ythe boundary of the reCangle 0 < x < =
Ray<l, 2=35 (06 Marks

Prove that the necessary cgﬁﬁdiﬁon for the I:J‘f(x,y,y')dx to be extremum is

of d(of 4 AL

T i i R AN e (06 Marks)

oy dx\oy' L

Using Green’s thet?‘i‘ém evaluate I(3x2 - 8y2)dx + (4y —6xy)dy, where C is the boundary of
( c '

the region botfided by the lines x =0,y =0, x+y = 1. (08 Marks)

v n/ % )
Find‘the:gxternal value of J'Z[(y’)"‘" =y”+4ycos x]dx . Given'that y(0) = 0, yL%)= 0.
0 % '

/ (06 Marks)
Prove that the shortest distance between two poifitsyin‘a plane is along.asstraight line joining

them. il (06 Marks)

% %k K sklok
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